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1. According to the following, draw a figure showing internal and external

balance. (7 marks)
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The horizontal axis represents expenditure changing: movements to the right
indicate expansion, and movements to the left contraction. The vertical axis
represents expenditure switching: movements upwards represent a switch towards
home-produced goods, and movements duwawards a shift towards imports. AER is
the external baisnce line, With constan: fotal expenditure, expenditure switehiy |
towards home goods, for example by devaluation, causes a shift towards external |
surplus, and switching towards foreign goods causes a shift towards external
deficit. With no switching, expanding expenditure causes a shift towards external
deficit, and contracting expenditure causes a shift towards external surplus. Thus
AEB slopes upwards.

CFED is the internal balance line. With constant total expenditure, switching
towards home goods causes a shift towards internal inflation, and switching
towards foreign goods causes a shift towards internal deflation. With no switching,
expanding total expenditure causes a shift towards internal inflation, and
contracting expenditure causes a shift towards internal deflation. Thus CED slopes |
downwards.

In Zone I there is internal inflation and an external surplus.

In Zone LI there is internal inflation and an external deficit.

In Zone 111 there is_internal deflation and an external deficit.

In Zone IV there is internal deflation and an external surplus.

In general a combination of expenditure changing and expenditure switching
policies is needed to get to the equilibrium point E.




